	Revelry Event Designers		IN-0005489			
3604 Medford St. Los Angeles, CA 90063 (323) 263-1657			<b>Mindy Weiss</b> 942 S. Detroit S Los Angeles, C	6		
	00 AM   Install PO: 00 AM   Install Day 2 Shipping A 00 PM   Event Date	ddress:	Invoice Date: Due Date: Upo	n Receip	ot	
02/25/2023 11:			Salesperson: Angela Murelli			
Description		Qtty	Price		Total	
General						
			Total General		\$0.00	
Ceremony						
	Tent Drape - White Chiffon w. Backing for the wall behind the stage	1	\$750.00	Т	\$750.00	
	Chandelier - Amsterdam - Geometrical 4'D - 20Lb - 1Amp	Sphere 4' 4	\$650.00	Т	\$2,600.00	
			Total Cerem	ony	\$3,350.00	
Cocktails						
P	Beirut Sofa - Curvy Blush Velvet	2	\$550.00	Т	\$1,100.00	
	Buenos Aires Coffee Table - Acrylic & (	Gold 2	\$250.00	Т	\$500.00	
	Rome Club Chair - Blush Velvet Channe	eled 4	\$250.00	Т	\$1,000.00	
	Beirut Ottoman - Blush Velvet	4	\$95.00	Т	\$380.00	
	Dining Chairs - Barcelona Peach-Blush paired with sit down tables	36	\$25.00	Т	\$900.00	
	Oslo Bistro Table - Brass W/ Marble To	pp 6	\$250.00	Т	\$1,500.00	
	Montecito Bar 6'L - White and Light Pir	nk Stripe 1	\$950.00	Т	\$950.00	

Description		Qtty	Price		Total
	Display Cart w. Awning - Limone Props - Carts - Display Cart W/ Drawing - Limone - Pink Dupioni	1	\$1,150.00	Т	\$1,150.00
	Light pink cart with pink awning				•
	New York Bar 8'L - Flat Front Painted light pink Client to apply decal to front and sides	2	\$950.00	Т	\$1,900.00
	Straight Barback 6'L - White	2	\$250.00	Т	\$500.00
1			Total Cocktails		\$9,880.00
Ballroom					
	Oversize Rose - Pink Large 30"D; Varying pink tones and white hung from awnings along pathway COLORS: (10) Hot Pink NEW PAINTED (10) Pink (instock) (12) painted shades of pink (instock)	32	\$150.00	Т	\$4,800.00
	Oversize Rose - Pink Medium 19"D; Varying pink tones and white hung from awnings along pathway COLORS: (10) Hot Pink NEW PAINTED (10) Pink (instock) (12) painted shades of pink (instock)	32	\$125.00	т	\$4,000.00
	Oversize Rose - Pink Small 14"D; Varying pink tones and white hung from awnings along pathway COLORS: (10) Hot Pink NEW PAINTED (10) Pink (instock) (12) painted shades of pink (instock)	32	\$110.00	Т	\$3,520.00
	Perimeter Drape - Emerald Green Velvet	1	\$6,700.00	Т	\$6,700.00
	Perimeter Valance - Emerald Green Dupioni	1	\$1,600.00	Т	\$1,600.00
	Hard Panel 5'W x 9'6"H hidden behind fabric; for neon vendor to attache neon butterflies	4	\$450.00	Т	\$1,800.00
	Hollywood Sofa 8'L - Emerald	4	\$450.00	Т	\$1,800.00
	Hollywood Club Chair - Emerald	4	\$225.00	Т	\$900.00
	Monaco Straight Banquette - Black Channeled 6'	6	\$350.00	Т	\$2,100.00
	Las Vegas Coffee Table - Mirror Client to add decal to cover entire coffee Table	8	\$200.00	Т	\$1,600.00

Description		Qtty	Price		Total
	Las Vegas Accent Table - Mirror Square Client to add decal to cover entire coffee Table	6	\$95.00	Т	\$570.00
	Ottoman Pod 18"D emerald green and hot pink	16	\$50.00	Т	\$800.00
	New York Bar 8'L - Flat Front and Sides painted black client to apply decal to front and sides	1	\$950.00	Т	\$950.00
	Straight Barback 6'L - Black	2	\$250.00	Т	\$500.00
	Dance Floor 24' x 24' TBD Pink or Black with decal butterflies	1	\$6,850.00	Т	\$6,850.00
	Accent Pillows - NEW (12) Flowers and (8) Butterflies	20	\$50.00	Т	\$1,000.00
	Accent Pillows - Instock	20	\$30.00	Т	\$600.00
			Total Ballroom		\$40,090.00
Services					
	Installers: Install FRiday	10	\$550.00		\$5,500.00
	Installers: Install Saturday AM	10	\$450.00		\$4,500.00
	Installers: Strike Saturday Night	10	\$550.00		\$5,500.00
	Trucking: 24'L	3	\$450.00		\$1,350.00
	Trucking: Fuel Surcharge	3	\$65.00		\$195.00
	Manager: Onsite (2) Days	1	\$1,450.00		\$1,450.00
	Manager: Layouts	1	\$1,250.00		\$1,250.00
	Supplies: Misc	1	\$650.00		\$650.00
	Dance Floor: Labor and Delivery	1	\$750.00		\$750.00

Please make checks payable to Revelry, Inc.	Total Products:	\$53,320.00
Nate: Driver to delivering and nick upp all invalues must be new in full	Total Labor/Services/Misc:	\$21,145.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it	Taxes (tax excempt):	\$0.00
, ,	Total Labor/Services/Misc:	(\$0.00)
Notes		\$74,465.00
	Payments:	(\$1,500.00)

Balance: \$72,965.00